| Efficiency vs Dxy |

0.2
<

RO b
LB
S : : : :

@16t
LA T |
DA
© oo E : : :
TR RO N SN
O e o
0.08F--erreeton
0.06 [

0.04F
0.02F
0

..............................

...............................

1

Ratio

0.8F

0.6

_JB20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

| Efficiency vs Dz |

V4
=
N

efficiency vs d
o
©

o
o))
[

0.4

=
!
'

..................

..................

..................

..................................................

..................

..................................................

..................

2030
TP dz (cm)



	Contents
	Page 1


